
 

 

  

This should say a bath uses 83L 



ANSWERS  - use written methods, I haven’t because I’ve typed the answers! 

 

1) 83L + 34L=  117L 

If Mrs H has a shower too they would use 34+34 = 68L 

 

117 – 68 = 49L 

 

2) 346 – 247=  99ml (use column subtraction or notice the closeness too 100) 

She has 99ml she needs 653   

653-99= 554ml    (I don’t like this question as I don’t think jam should be measured in ml but 

never mind…) 

 

3) 750 – 143 = 607ml – 249 = 358ml 

 

4) Naughty Joshua! Do NOT try this at home! 

 

2 shoes together hold 254ml (2x127) 

675 – 254 = 421ml 

 

5) 5.75 – 3.5 = 2.25L 

 7000ml = 7L. They need 1.25L more (7-5.75) 

 

6) 214 x 4 = 856ml 

1L = 1000ml 1000-856 = 144ml 


